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QUESTION 1

Which two statement are true about SDN WAN implementations? (Choose two) 

A. SDN WAN uses VXLAN to connect POPs 

B. SDN WAN uses data center orchestration platforms 

C. SDN WAN uses a centralized a control plane 

D. SDN WAN uses MPLS tunnels to connect POPs 

Correct Answer: CD 

 

QUESTION 2

AppFormix has been deployed in your data center using the Juniper Telemetry Interface(JTI) native sensors. However,
the underlay devices have not yet been set up to work with the JTI native sensors. Which action is required for the JTI
native sensors to work properly? 

A. Install the AppFormix network agent on the underlay devices 

B. Enable NETCONF over SSH on the underlay devices 

C. Enable SSH on the underlay devices 

D. Enable GPB messaging on the underlay devices 

Correct Answer: D 

 

QUESTION 3

Which node in a Contrail cluster is used to collect data from the routers? 

A. control node 

B. analytics node 

C. compute node 

D. configuration node 

Correct Answer: B 

 

QUESTION 4

You are deploying a layer 3 underlay network with 10,000 devices and hosts. Which two statements are correct in this
scenario? (Choose two.) 
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A. Loop prevention is provided by the routing protocol 

B. Routing table can become very large 

C. RSTP can be used for loop prevention 

D. The MAC tables can become very large 

Correct Answer: AB 

 

QUESTION 5

A customer want to deploy a website that can scale as needed. 

Which type of services should the customer purchase in this scenario? 

A. DBaaS 

B. SaaS 

C. BGPaaS 

D. FWaaS 

Correct Answer: B 
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